
13th June                                    Numeracy 5-a-day                 

Tickets for a raffle cost £5 each.

How many tickets were sold if total 
sales were £1765?

Convert 3km into metres Convert 1800g into kilograms

Which colour of car is the least 
popular?

Which colour of car is the most 
popular?

Michelle is making chocolate cakes.
Each cake needs 400g of chocolate.
Michelle has 2.8kg of chocolate.

How many chocolate cakes can 
Michelle make?

�
The pie chart shows the colours of 
cars in a car park.


